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Circle the letter corresponding to the correct answer :-

1) Find the domain Al Jlaa 222 (1
S x-—3

Y

2 _og)
A) {x/x<-2,x22,x &R} -7t 7%

U Co ¢
B) {x/x<-2,x>2,x€R} N

C) {x/-2<x<2,xeR} — =1 3

D) {x/-2<x<2,x€R} 2 < 2

2) Hf(x) = 6— i’ B2 ey (2

x+2 S \" L fx +2
f(=3) = T g f(—-3)

— 4
C) 3..° .
B - |
N/ N
D) _21
S N
I W
) " ~
W "y ¥
\,___- ~




3) Use the shown graph F(x) Alall Al Sl s addiad (3
represented f(x) to determine Adlall 8 jhal) o slal) alay

the end behavwr of the flx ) _ 5x +6 °. 2

function f (xj sz 12, - 5 4 Z 7,

A) lim f(x) = — o0, lim f(x) = o

B) limf(x)= 7, lim f(x)=7

C) lim f(x) = 8, lim f(x) = 8 S PETITI
X—00 ) | it
—+—1 A —————
D) lim f(x) = o, lim f(x) = oo | | W[ | |

4) Determlne the end behavior-/
2x2 +3x . 2x2+3x
x3—4x= 25 ° f( ) x3-4x-5

.,

of the-,_f,__,functlon f(x) =

A) lim f(x) = — o, Jim 1 f(x) = —oo L5 on 2_3‘:%

X— 00

z,fé""@??(,
B) limf(x)=2, lim f(x) =2 2
X—00 X——00 — A —

Cc 1 — l' ()=0 |
xLTof(x) tm_f(x _2 ,/

D) lim f(x) = —o00, 11m f(x) = o

x—éOO




5) State the horizontal ga pdalall g ol 1) (SN Jadd) 228 (5
asymptote and y-lntercept Adlly 5 9aa

@ (1) i1 Hﬂ f@) =@z,

— %=z ¢
7/1'\0(3 (L=0) /H ﬁ-'L 5

A) ___";"'Eﬁorizontal asymgg.qi'e y=1,y— mterceﬁt =

B) . )
Horizontal asymptote x =1 ,y — intercept =

N| W

C) Horizontal asymptote y =1 ,y — intercept =0

D) H orizg.ﬁtal asymptote x =1 ,y — intercept = 2

6) Evﬂﬁlate

V). 1
2 n7 _ 10g5




7) Express In(0.6) ANY In(0.6) s e sl ¢ e (7

in terms of ln3 ,In5 In3 ,In5

*J

A) ln3 + In5 : L o6 = Lu 25
) in5 In3 * = ln 2~ up
C) In3-1In5

D) In6+ In10

8) Flnd the measure of angle 9 :
Round to the nearest degre& 7

n »*




9) Find the length ef arc

21
9=_——-J «cr=12in

10) Let/(—24,—7) bea poiﬁt"ﬁn

the términal side of an angle 0 in
standard position.

Find the exact values of

sinf , cosB

usdll Jsb a4l (9
¢ r= 12ln

dall e ol (—245~7) vail (10
mw w\ 4;5\ 0 93U Al
\x,;;'-’-_af' S]l’le cosfO




11) Find its reference angle 1%” 1%” 495U papall A9 a3 (11

(=7 /
— __.’_/’

12) Evaluate sin (Zcos‘fg)

L




13) Simplify _ b (13

e
.',(

cosO — cos&sm ) 7 cos0 — cosOsin*Q

\fﬂ Ca S 6 - Cﬁé e

769:59

14) Whlch of the following i 15 43'?»
equivalent to N, 3

A cosx . cosx
CoS X COS X M —

1+sinx 1-sinx

- + ;
1+sinx 1-sinx

A) 2secx Cosid{ —sn z2) & Cos ( larSwm)

L VA Swa)(y-9 mc)




15) Solve . Aflal) Aaaal) Ja (18

tan® x — 2tanx+1—0 on the °Jm‘u-°' tan’x —2tanx+1 =0

interval [0, 2. ] [0 217, ]
8 L wmostom ftana o
~Y= 4’ 474" 4 ) t \’
B) Yx="1 3 7=
v =% Y
YTy g = *-(% - a

7x,x<1

4x* +2, x > ——1
contmumls at x = —1. Justify usmg the continuity test. If’
dlscontn:mOus, identify the type of discontinuity as( 1nfin1te, jump, or
removable). -

7—x ,x<-1.

x——1-\r—Ya\4—LA-uf(x)—{4x +2, x=-1

S8 AN ) Juadly) £ g 2aad Aladiae CilS 13) g Jlady) JLEA) aladiuly dida) s ¢
(AU A8

16) Determlne whether functlon f (x) = {

ums ilg 13) La daa (16

o0 WJH__@

0999 | -0.99_J -0.9
5.992004 | 5.9204 | 5.24

x | 11 7101 | -1.001
f(x) 81 8.01 8.001_

bin S0 = B ¢ L««« S =6__ Lm gw«m/g
% - Sr—=- R

§<7°) 1S éMSCan{aw&od-s Dﬁk» 'Z}"’-"“ QS\W‘\V)
(ojé} 1’*‘»& Mﬁd’n




17) Find the average rate of change of
f(x) =x3 —4x* + 3x — 7on[ 1,3].
[—1,3] um\ga f(x) = x* — 4x? +3x -7 M\aﬂw\&wm\m

ol Ja.uy.a Average rate of change 5( 3) - 3 — 4 (3 1_3% 1

7 F3)-F(-1) |
7 ®-CD P/ =71y
:.:;:"1 -\ 6 3 3 7, =
ERTTI S _ g

= A8

18) Ahmed acquired an inheritance of 15000 AED at age 8 , but he
will not have access to it until he turn 18
a) If his inheritance is placed in a saying account earning 5.4 %’
interest compounded monthly , how much will Ahmed’s 1nher1tance
be worth-his 18" birthday? , 4
b) How much will Ahmed’s inhieritance be worth if it is placed in an
account earning 4.5% interest’ contlnuously"
Cra Sty o Adsd H‘MSW&MJJISOOO‘UMU‘H‘;‘Q saal Juas (18
Lle 18 seadl (e Mu Aa 4l Jsa gl
Bl oS8 ¢ Uy gl 75,4 Ay A0S o B8 iy 1 98 Gl (8 43 yaa puda g a5 1) (]
$18 J) oD Ae dan &) yua
dsm/45w°.uudmumuamjym m\u\JMMUJSAMPS(u

) ¥ = lhooo ¢ T=18- 2 =zlo Y= gqy’dowﬂm
N=1\2 _ ‘(/_
f=v(\x n ) 12{10)

7/ 0-0%%
= Vhoosl 14 22 )

= 25YFR co%  ALQ o) |

— \Wooo € — ’7-73‘52L{.,€8 F\ED




19) If secO = %, find the exact values of the five remaining
trigonometric functions for the acute angle 6.

0 MJ‘)SS Al 31 gal) (uadll Z\l\hﬂ yﬂ\ unl secO = —3 ciulS 1) (19
( ": 2\
. A 21 20 21
sin@’=2-  cos@ =2 Ytan@ =
29 20
csch = 21 cotl = 71

20) State the amplltude, period, frequency, phase shift and vertlcal
shift of y = -3cos (Zx — —) .Then graph two periods of the functlon
™ M\Jﬂ‘\.\u\j‘ %\JY < JJH\ Mb\ ¢ sl ¢ OJJAS\ ¢ M‘ aaa (20

44‘-\-“ u-\-uﬁ Lily e ad, y = —3cos (Zx — %)

Amplitude [=3] = 3
daud)
Period bosl | 2T
2 "
Frequency _)si 1 /
T T % [
phase shift T T |
sshidary| 422
2 8
Vertical shift 0
Al 1) da Y)Y
T4 2 () 4
| vy [—212|-212]212] 212 —2-12




